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MT-05
June - Examination 2017
B.A./B.Sc. Pt. Il Examination
Differential Equations
Paper - MT-05

Time : 3 Hours ] [ Max. Marks :- 67

Note:

ﬁ'é?T :

Note:

ﬁi@T :

The question paper is divided into three sections A, B and
C. Write answer as per the given instructions. Use of non-
programmable scientific calculator is allowed in this paper.
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Section - A Tx1=17
(Very Short Answer Questions)

Section ‘A’ contain seven (07) Very Short Answer Type
Questions. Examinees have to attempt all questions. Each
question is of 01 mark and maximum word limit may be
thirty words.
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1) (i) Find order and degree of equation.

JTghol AHIBRUT T DIfc g BT ST DI
d’y dy _
d—x2 + SE — fxdx

(i) Solve (g1 HIfvMT) :-

dy
— 4+ 2y =
dx Y 0

(i11) Find Integrating factor of equation.
3ehel AHIDHRUT T FAHTDT JUTeh STl hITSTT|
(x3 + xy4> dx + 2y3dy =0
. d y
(iv) Solve (g1 HIRTT) : e} + 4y=0

h
(v) Find particla differential equation by eliminating arbitrary
constants a and b from equation

z=ax+by+\/%
FHIR z = ax + by + yab A a T b FT Ao IR 73w
Jqhed FHIDPRT ST DI

(vi) Solve (et dIfY):—
pPtg=1

(vii) Solve (8T PIfTT): -
(D*-4DD'+ D'?)Z =0
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Section - B 4 x8=32
(Short Answer Questions)

Note: Section ‘B’ contain Eight Short Answer Type Questions.
Examinees will have to answer any four (04) questions.
Each question is of 08 marks. Examinees have to delimit
each answer in maximum 200 words.
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Solve (& 6IfSTT): (Question 2 to 9)

d
2) d—i = sin(x + y) + cos(x + y)

dy
3 =L =
) dx 1+ x

tan y + (1 + x) e"secy

4) (xy2 sin xy + y cos xy) dx + (xzy sin xy —xcosxy)dy = 0

2 2
xdy dy x
5) S 4+ A+ 2y =
) e x ot 2y=e
6) d__ b _&
cos(x+y) sin(x+y) z
dy . dy
7 ¥+ x—=——9=0
) x e X 9y
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Whose one solution is y = x°
fSTFepT W &1 y = x° 2
8) xyp+yiq=ayz— 2"
8’z 8’z

9 — =Xx—
) 8 x° 8§y 4

Section - C 2X14=28
(Long Answer Questions)

Note: Section ‘C’ contain 4 Long Answer Type Questions.
Examinees will have to answer any two (02) questions.
Each question is of 14 marks. Examinees have to delimit
each answer in maximum 500 words.

QU - g
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10) (i) Describe the solutions of equation.
FHIPRUT & gl Dl IR DI
2.2, 2_
py ty =4

(i1) Solve by variation of parameter.

Uil feraRur faft 4 goT v
o dy
d2

d
21+ 0Z + 21+ y=4"
Ix dx
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11) (i) Solve (g HIfM)
PPyt )y ptxy(xty)=0
(i1) Solve by Charpit Method.
ol fafdr 1 gt i)
P+ q)y=qz
12) (i) Solve (g HIM):

d , .
d—JZ}(B» sinx—cotx)dy+ (2 s1n2x)y =e
A%

(ii) Solve (8T HIFTT):
dzy 2
—, T ay=tanax

dx

13) (i) Solve (g HIfSMQ):
axyp’+ (& —ay’ = b) p—xy=10

cosx : 2
Sin x

(i1) Solve by Picard’s Method.

feepre fafer | ge1 I

d :
—y=x+y givenatx =0, y=1
dx
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